START (U4 L2)

	It
	is
	a
	………………



	They
	are
	…………………………



	As

Because

So
	all
	the
	edges
	have
	the
	same
	length.

measure.

	The
	……….
	has
	the
	biggest

smallest
	perimeter.



	As

Because

So
	if
	you
	add

sum
	the
	4
	edges
	the
	sum

result
	is 
	a
	higher
	number

	Yes,

No,
	they
	can.

can not/ can’t


MAIN TEACHING
	It
	could
	be
	a


	…………..

	It


	is
	an
	…………..
	triangle.

	It
	is
	…………
	mm
	or
	…………
	cm.



	The
	perimeter
	would
	be
	…………..
	cm.




ENDING
	To
	build
	the
	fence
	of
	a
	house.

	
	know
	
	dimensions
	
	
	land.

	
	make
	a
	frame.



	It
	could
	be
	……………..
	m.



	It
	would
	be
	…………….
	cm.


	We
	could
	calculate
	the
	dimensions
	of
	each
	rectangle
	and
	add

sum
	the
	results.


